| Initialization - 0

entry / servo.enable()
servo.reset()

transition(ldle)

exit /
DPL.EV_WIGGLE_SERVO / servo.selfTest()
DPL.EV_SERVO_RESET / servo.reset()
\ 4
Idle -1
p
entry /
exit /
DPL.EV_CUT_DROGUE h

DPL.EV_NC_OPEN
DPL.EV_CUTTING_TIMEOUT

DPL.EV_NC_OPEN_TIMEOUT
DPL.EV_NC_DETACHED / v

Y

Cutting -3 removeD(DPL.EV_NC_OPEN_TIMEOUT) Nosecode Ejection -2
entry / startCutting()
postD(DPL.EV_CUTTING_TIMEOUT) entry / servo.pos(EJECT_POS)
exit / stopCutting() postD(DPL.EV_NC_OPEN_TIMEOUT)
exit /




